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QUESTION 1

If you want to get the sum of the link label values of all single arrowhead links pointing away from the entity, which

analysis attribute below should you use?
A. Entity Sum Link Flow

B. Entity Sum Links

C. Entity Sum Links From

D. Entity Sum Links To

Correct Answer: C

QUESTION 2

What are the layers of the i2 Service Oriented Architecture?
A. Data Layer

B. Service Layer

C. Client Layer

D. All of the above

Correct Answer: D

QUESTION 3

In relation to demos for Discrete Manufacturing, which statement is correct for the i2?
A. There are no demos for the i2

B. Demos are for NDA customers only and not for external USA

C. Multiple Demos are available for use

D. We encourage the use of demo to external audiences

Correct Answer: D

QUESTION 4
The event listener is part of:

A. Analyst desktop
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B. Write server
C. Read Server
D. None of the above

Correct Answer: D

QUESTION 5

Looking at Intelligent Law Enforcement, what layer is the event data provider in?
A. Application Layer

B. Data integration Layer

C. Presentation Layer

D. None of the above

Correct Answer: B
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